



Fun Guide for Chemistry

NAME 



The three fundamental particles of the atom are the 
proton , neutron , and 
electron. At the center of the atom is the atomic 
nucleus, which consists of 
protons and 
neutrons. The atomic number is the number of  protons in the nucleus. All atoms of the same element have the same number of 
protons, hence, the same atomic number.


Isotopes are atoms that have the same number of 
protons but a different number of 
neutrons which changes the atomic 
mass of the atom. The number of 
protons
 and neutrons
 make up the 
atomic mass
. A Carbon isotope having 6 protons
 and 6 neutrons
 is identified as Carbon – 12, where 12 is the mass. A Carbon – 14 isotope has 6 
protons and 8 
neutrons
.

1) Protons
 and 
neutrons
 have mass, 
electrons do not.

2) Electrons
 orbit around the outside of an atom in a cloud, while protons

and 
neutrons make up the nucleus at the center.

4) Elements in the same group have the same number of 
valence   electrons     .

5) Elements on the periodic table are arranged according 
atomic  number   .

6) If you subtract the atomic number from the atomic mass, you get the number of 

neutrons
.

7) Because most atoms are neutral, the number of protons
 and electrons
 are usually the same for an atom.
8) Atoms with the same number of protons, but a different number of neutrons are called 
isotopes
.
9) Compounds formed between metals and non-metals when electrons are exchanged are called ionic compounds.
10) When non-metals form bonds where electrons are shared, it is a covalent
 compound.
11) Elements in group 1 have 
   1 valence electron which they give
.
12) Elements in group 16 have 6  valence electrons and try to take   2     electrons.
13) Elements in group 18 or 8 do not ordinarily react with other elements.
14) Elements react because of their 
valence  electrons or electrons in their outer shell. 
Metals

 always give electrons and 
non
-  metals

 take electrons.
15) Write the type of ion each of the following will form and its number of valence electrons:

    Na+1
Cl -1

S -2

Mg +2

      Ar 0


1
7

6

2


8

16) Write the chemical formulas for the following reactions:

Na  +  Cl  (
NaCl

Mg  +  N  (
Mg3N2

Ba  +  F  (BaF2
K  +  O  (
K2O

Be  +  S  (
BeS

H  +  O  (H2O
Write whether the following are covalent or ionic bonds:

MgO -
Ionic
NH3-
Covalent
CCL4-
Covalent
NaCl-
Ionic
SiO2-Covalent

	Element
	Atomic #
	Atomic Mass
	# of Protons
	# of Electrons
	# of Neutrons
	Charge

	 H
	 1
	 1
	 1
	0
	0
	1

	 Sc
	21
	45
	 21
	 21
	 24
	Neutral

	Na
	 11
	 23
	 11
	11
	12
	 Neutral

	 Pu
	92
	            238
	92
	 92
	 146
	Neutral

	C
	 6
	14
	 6
	 10
	 8
	-4

	Au
	 79
	196
	 79
	 79
	 117
	Neutral
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	Atomic Number 19             
	
	
	Atomic Number 3              

	
	
	
	Atomic Mass 40                   
	
	
	Atomic Mass      7             

	
	
	
	Charge   +1       
	
	
	
	Charge         +1 

	
	
	
	Element   K         
	
	
	Element      Li      

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	

	
	
	
	
	
	
	
	
	

	
	
	
	Atomic Number  15              
	
	
	Atomic Number   7            

	
	
	
	Atomic Mass   31                
	
	
	Atomic Mass  14                 

	
	
	
	Charge   N  
	
	
	
	Charge    -3      

	
	
	
	Element  P          
	
	
	Element  N     

	
	
	
	
	
	
	
	
	
	


17) Balance the Following Chemical Equations:
__2__ HgO     (     __2__ Hg     +  ____ O2

_4___ Al    +    __3_ O2     (    __2_ Al2O3

____ MgO   + ____ CO2    (   ____ MgCO3

____ C4H8    +   __6_ O2     (   __4_ CO2  +  __4_ H2O

18)Explain how balancing Chemical equations is related to the Law of Conservation of Mass: 
Matter is neither created nor destroyed. I balancing an equation, you have the same number of atoms on one side of the equation as you do on the other side, they are just shuffled around.
